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e Compute the characteristic equation that we want:

(s—p1):-+(s—pn) =" +rs"!

e Compute the characteristic equation that we have:
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e Compute the controllability matrix of the original system (and check that det(W) # 0):

W=[B AB ... A"'B]

e Compute the controllability matrix of the transformed system:
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e Compute the gains for the transformed system:
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e Compute the gains for the original system:

K = KW W!

AL : Bccl]

“Lecf

it

Bcd =

ACKERMANN'S
METHoD



Tl symten
x =t B
is coubrollable if
W=1® AR
hos Lull conk .



